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SN JIEMED
Ja: J|1BES N ATEAl FE(EZ/001)
chel: 2 Y JIFHI (2 EER=E)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
SEEE 32,064,699 30,346,728 1,717,971
2 15,876,265
] 00,000
< 3,190,442
A 12,897,992
JI2EE W A=A PE(/00N) 29,678,286 28,039,213 1,839,073
2 15,835,915
] 00,000
= 3,149,032
A 10,793,339
Aey L OISHs (1S 1,312,910 1,515, 160 £202,250
= 275,000
] 00,000
< 7,000
A 90,910
BAIANY PE 235,460 434,600 199, 140
201 Ler2t| 11,900 19,600 A7,700
o1 ARzl 11,900 19,600 AT.700
Our+2t| 8,500
cHYDS BHH DLW U B22 M
0,00021+200 223! 4,000
CHAAYAAEY ASB2| MM £42
4,500,0002! %141 4,500
osg+y 3,400
SO+l BRTULAVE WULE 28
100,000 624 +22] 1,200
SOI+Al BTDKAVS FULE 2
100, 0002 1124x23] 2,200
208 YR E & 4,860 4,860
S EESISEESE 4,860 4,860
OBF=X BHYR FTH)
4,860,0002!+13] 4,860
307 BI20IH 218,700 215,000 3,700
02 BRI AAIY R E 124,000 124,000 0
ORY=MSATME A X2
90,000, 0002141 90,000
OOSTBIHSLH FUAY =X
34,000, 00024141 34,000
03 BIRISHY N2 Y 2 X 94,700 91,000 3,700
ORY=MEATBLE 22|
10,000, 00024141 10,000
OO+ X=IhsL T Eolsl 2|
84,700, 00024141 84,700
BEC 2 2 A N 11,000 18,000 7,000
307 B1240| & 11,000 18,000 A7,000




SN IS MEND
M J|IEES M AT Al 2E(EE/U01)
Helr Zgd ¥ JISHE U8 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 11,000 18,000 /7,000
OFaxE 3XH0I2 Mt L2l XS
g#d 2UHE 4,000,000& *14] 4,000
Ot JIJ| 28 € UM HEES
7,000,000 * 14 7,000
JIZES S 9 ML 165,120 120,500 44,620
201 2= 20,000 24,400 A4,400
01 AtR2t2lt] 16,000 17,000 A1,000
Oget=ZH| 11,000
SIIZHSHE AIM EEE M
5,0003+600F*23] 6,000
SJIZHSUS WF B4 sH4SAH
SEES 5,000&*1,000H 5,000
Oo=2g=+d 5,000
SAB0 DAl AT SMATSIAS 4
g 100,000 x 102 +53] 5,000
02 S3=gl 4,000 7,400 A3,400
OgZMga AME2 sX2al
4,000,000 * 14 4,000
202 04| 6,120 6,600 A480
01 =LHOLI 6.120 6,600 A480
OJI=dsiisS 2 JHEs &4
110,000 x2& x2 2 «32] 1,320
OJl=dzlls HFuUSE F4
110,000& »2& 4 880
OJI=8stils Y28 ol
20,0003 »2E+3&* 102 1,200
OJl=dsiisad E83 ¥ MOILH Ot
110,000 x2& x2 2 +42] 1,760
OJZHSIHS(EAXQIEN S)2H AR
=& 04l 20,0003+ 1H =4 122 960
203 =4l 1,000 0 1,000
03 A=A PR FZ| 1,000 0 1,000
OJ|=datd g2 =4
1,000,0002 %12 1,000
206 M=Hl 18,000 20,000 A2,000
01 MHZHI 18,000 20,000 /2,000
OJI=Es st - AlQl 2B W= JIAHH
10,0002 90071 *23 18,000
207 ARl 60,000 0 60,000
01 = 60,000 0 60,000
OO%Al BASEY SMNT J|2HE 22
g9 =0 60,000,000 * 14! 60,000
301 22N = 21,000 28,500 AT7,500
11 AALAEIXIE S 1,200 1,500 A300




SN IS MEND
Ja: J|1BES N ATEAl FE(EZ/001)
Helr Zgd ¥ JISHE U8 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJIZESHZIHZAN =L MOILE &
G A MY BY
50,0002 «8H *3& 1,200
14 DBt 23 19,800 27,000 AT7,200
OJIR25 WS ZA & 3HE2 SFdH
A =E 50,0002 * 11 +32* 122 19,800
307 @I2t01 & 36,000 38,000 A2,000
02 LB HANHEE 36,000 38,000 22,000
O24a0tA N22= NddsHE 2UHE
ol2tatsy HolX 29
30,000,000& *14{ 30,000
OJI=Es d&EI0t &4 X2
6,000,000 14 6,000
310 =2/01& 3,000 3,000
2 =K=2s=s 3,000 3,000
OXXIEH =HetBE2sl 23 FE=
3,000,000 *14] 3,000
JI=EAS HE M 7,120 79,500 N72,380
201 =3 5,800 7,800 22,000
01 At22telt] 5,800 7,800 22,000
OJI=RJ| HE AH 228 S HH
2,000&*1,000% 23] 4,000
O0i==Al JIZ2JIHS U A2
100,000& x2&*9R =*13] 1,800
202 04| 1,320 1,700 A380
01 2L 1,320 1,700 A380
OJI=IIEs 2d E83 & HOILE 4
110,000 4 & +3 1,320
J|=Ee FHAHS XA 200,000 200,000 0
Jl 100,000
Al 100,000
401 Al HIZ S 0HbI 200,000 200,000 0
) 100,000
Al 100,000
01 AlZH| 200,000 200,000 0
OJI=8st HAAS XM (2 RT)
200,000,000 *14] 200,000
Il 100,000
Al 100,000
2N 2= 65,210 62,610 2,600
201 er23| 19,000 12,100 6,900
01 At2tltl 19,000 12,100 6,900
Odgt=3=H| 19,000
oR&ItA SHACIMN BHAN BS ===
10,000,000& x12] 10,000




SM: DS MEND}
HH: J|ISES M ATTAl RS (EA/TDI)
¢ zEd Y J|=Bs S EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
CEIAHQOIEN E8 M
50024 %2, 0000H*13] 1,000
oBtASE T Al(Net—Zero City) 2Z2AIY HICH
N B Y PTHIE 8,000,00021% 14! 8,000
202 04| 2,210 2,510 2300
01 =Kol 2,210 2,510 2300
OR40tA 2= &3 S &4
110,00021324*335] 990
OHDISES 2atA 2208 SRl
20,0002 2% +72 280
OBAZOIER 22, Jl2iH 25 & =
ol 20,0002 %2 +7Y 280
OHYIZSSS 2Y=2E 48 89 &4
110, 00021324235 660
207 AR 29,000 28,000 1,000
01 eipgay| 29,000 28,000 1,000
OR40tA UK SEZ2IK SAH L 0l
HARS DA EHHZO
14,500,000 *14! 14,500
OR40tA IUX SHEZ2IK 0l A=A
eSPER=1s 14,500, 00024 *14! 14,500
402 DIZEXH=0| ™ 15,000 20,000 25,000
01 PIIRH=AIS B (RHHITH ) 15,000 20,000 25,000
O=MMEAF JRIBEZE 0S| ALY
15,000,000 *14! 15,000
EIATOIER 29 335,000 320,000 15,000
=2 166,000
Al 169,000
301 LHERZ 332,000 320,000 12,000
=2 166,000
Al 166,000
14 JIEH2 A2 332,000 320,000 12,000
OEAZOIER JIAR QIMEIS XIS
332,000,00021% 14! 332,000
2 166,000
Al 166,000
303 mArZ 3,000 3,000
01 ZA2 3,000 3,000
OBAZOIER JIAYMR 24 SBHE Ha
El 3,000,000 % 14! 3,000
KNS BAZOETN 2% 18,000 14,950 3,050
2 9,000
Al 9,000
301 LPHE 2 18,000 14,950 3,050
2 9,000
Al 9,000




A IS AHE
M D25 2M ASTAl FE(BE/UOI)
¢ zEd Y J|=Bs S EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
14 J|EI2 43 18,000 14,950 3,050
OXtSIt EAZIER IR CIHEIE X
= 18,000,000 & 14| 18,000
= 9,000
Al 9,000
XNRe & I8 JI=2BSF2F sHAt 35,000 30,000 5,000
307 2I2+0l™ 35,000 30,000 5,000
04 QIZHSHAAIE E X 35,000 30,000 5,000
OXIRe & I8 JIEESF2F A
35,000,000 14! 35,000
BZol d JIEE#A} 5,000 5,000
307 212+01 A 5,000 5,000
04 QUIZHHAIAIE E X 5,000 5,000
OtZel & J1gadAt 5,000,000 * 14! 5,000
EAsSE NJdEH 29 200,000 200,000 0
= 100,000
Al 100,000
308 AXISHMSO0IA 200,000 0 200,000
= 100,000
Al 100,000
09 XITHstoll st AT 200,000 0 200,000
Oeta=g XMy 29 X2
200,000,000 =14 200,000
= 100,000
Al 100,000
e S$HASEHIEERNM 29 18,000 0 18,000
& 7,000
Al 11,000
301 LB F 18,000 0 18,000
& 7,000
Al 11,000
14 J|Et2 43 18,000 0 18,000
OXEs EtAZOIER CIMEIE X2
8,000,000 * 14 8,000
T 4,000
Al 4,000
OEAZOIERN A7 JtItF CIHIEIE X
= 10,000,000 14| 10,000
T 3,000
Al 7,000
IZRIIUHES HASE LA 2E W= 18,000 0 18,000
307 QIZ2t01 A 18,000 0 18,000
02 QIZHBAAIEER 18,000 0 18,000




2N JIS=AHEfD
M J|IEES 2H AT Al RS (EA/CD])
ohel: FEZE L I|IFHE S (SH &)
. _ S[E]
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
OJIZSDIUS BASE SFUAN 24
= 18,000,000 «1A! 18,000
UNJIS=HSIE S SA=ES] | 105, 156 182,562 NT7,406
ND I ZHSIE S SAI=2ES R &8s K& 105, 156 182,562 NNTT,406
201 LEr2AH| 65,556 106, 152 240,596
01 AFR22t2|t] 33,556 71,152 N37,5%6
Ogt=EH]| 32,500
o MI33XF HAIZES RX EE Ha ME
10,000,000 x23] 20,000
o MI3BBX HAI=EE 2K EE22 ME
5,000&*1,0000H*23] 10,000
o MIBBX SHAI=EE KX 22 22X HE
50024+5,0008 2,500
o3z 1,0%
cYARE RA YL FX
8,002 532 x4 112 1,05
03 A2 32,000 35,000 3,000
ORIBX YMRBE BRIl 2910 =S 9
St Ol EEEA 29
3,000,000 «43| 12,000
OHMIBBA HAI=2E3| KX JI¥ M0 &
23, AEXNY S A
10,000,000 *23| 20,000
202 04d| 5,800 6,660 A860
01 2L Y| 5,800 6,660 2860
OHMIZBBX HAI=E3| X €2 =&
20,000& *3H 52« 122 3,600
OHMIZBBA SAI=2E3 KX €2 &9 & 39
& 10,0002 42 22123 880
OHILSABA FARES| BRI E2ES
110,000 x3H 2 23| 1,320
203 E2=&Ib| 1,800 2,000 A200
08 A EZIQS Y| 1,800 2,000 200
ONMBA LAREE il NS =&
1,800,000« 1Al 1,800
301 LEIENZ= 12,000 27,750 A 15,750
11 SHAAHI X2 12,000 27,750 A 15,750
OHMIZBBX SAI=2E3| KX SAREH 22 Y
ATSAL B A B4
50,0002 x20H 33| 3,000
OHMIBA HAI=ZE3| R 423)|& A5 A
HIel &OF AH| B4
10,0002 *300H *x33| 9,000
308 AXISHISOIA 20,000 20,000
13 B 2ZASUHUSHE AR AE AL HI 20,000 20,000
OHMNIZX SA==E8 X & 212
20,000,000 14l 20,000




SA JI=HEN
M JIFES I HdETAl AE(EZ/U00)
Cel: D=0l F el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JI=UI| eZ2e 28,460,220 26,341,491 2,118,729
= 15,560,915
== 3,142,032
Al 9,757,273
oI e 685,710 569,883 125,827
= 40,000
=S 108,000
Al 537,710
201 et 3| 266,225 280,363 A14,138
== 108,000
Al 158,225
01 AtR2t2lt] 12,268 19,006 26,738
Oget=ZH| 11,548
cEFEZID| FHA =5 392
—HASHD| 192,500+ 1CH 198
- ANSX BEJA SED|
103,400 1CH 104
—HHEIJtA HICI2 Stoiict
94,6002 *1CH %
ol =E3J| WEE HEEH 28528
38,5002 *3H 116
oXgtd NUsSi 25 & S8 &t
NZAte ot & &+ JM& 1,040
-SWE 200,000 *x20 2+ 13] 400
- AAIE 80,0003 471 A +23] 640
oL AR RIHX XFS W ===
10,0002 *1,000CH 10,000
Oul=s| 720
oXSXt HHEIA HEQRY 2R= 720
—H&= 100,000 6% 600
-&, 0123, 21 20,0002 +6 120
02 S3=gHl 253,957 261,357 AT,400
OAlEEHIR X 253,957
SHIIEZSHL (AL, HIISS%)
2t 216,000,000 x14] 216,000
= 108,000
Al 108,000
SZAUYI =3 =FI1JI 2258 uH
3,700,000 +8IH 2= 29,600
oIEssxs 58Y S5ID| 228 WA
1,200,000 #4042 4,800
ot =30 #=cl
11,000, 0002 #5%=1CH 550
oXtSXt BiEIA SEI| £=2|
8,140, 0002 5%+ 1CH 407




2A:

J |2 4EH 1

M JIFES I HdETAl AE(EZ/U00)
el JI=0ol SZ2el (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot EHIIE HICI2 tiiet =2l
35,000, 0002 *5%+1CH 1,750
oAtSAt BEHA =5E HHl 423 850
—HE0A, EH S 850,000 12 850
202 04| 3,780 4,050 A270
01 =LHO LI 3,780 4,050 A270
O&IIX EHS SHFIX Sl &
20,0002 +x3& x123] 720
Oblss 2538 X &€ 84
20,0008 x2& %102 400
Ozl =it - 28X tHEItA S 2
Hztg FA 110,000 2 x33] 660
OoHJled28g HE S 2 XNE Alg 3
o &4 110,000& »2& =22 440
&2 DIAMHAAAME 29 &4
110,000 x2& »23] 440
OO0IEX &5 &N HE &8s o5
20,0002 *28 x102] 400
O2dxt HEIIA =AIESH
20,0002 »2H 102 400
ONSA =28 Hetkls S8
20,0002 x2& +83] 320
308 AtXIEMSOIE 85,705 80,470 5,235
07 AX 2L FE= 46,500 58,100 A11,600
&2 DM A7 - 22|dE XE2Y
46,500,000& x14] 46,500
18 SIS0t 4 A AS At 39,206 22,370 16,835
OXSxt 2"HIst AIAE 2e| HE|
39,205,000 x 14 39,205
401 AIZHIX S0HH 330,000 195,000 135,000
= 40,000
Al 290,000
01 AlZ8| 327,480 195,000 132,480
Ok= o= A28 uH
250,000,0002%99.28/100 248,200
OoIs=5582 £X
80,000,000& *99.1/100 79,280
= 39,640
Al 39,640
03 AIE SR 0HHI 2,520 0 2,520
Oz tJ1ed d&& uK
250,000,000&+0.72/100 1,800
OoIs=5582 £X
80,000,000& *0.9/100 720
= 360
Al 360




2A:

X XH -
o=

J |2 4EH 1
=Es 2
=

Rl DI Fael EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=2MI|ISEL B3 5,625,000 7,500,000 A1,875,000
= 3,375,000
== 750,000
Al 1,500,000

402 212 X201 & 5,625,000 7,500,000 A1,875,000
= 3,375,000
=S 750,000
Al 1,500,000

02 QI ZSASEZ(0IE TR 5,625,000 7,500,000 A1,875,000

O%AFI|IS8R 22

5,625,000,000& *14] 5,625,000
= 3,375,000
= 750,000
Al 1,500,000

F=AMIIHA B8 5,085,000 300,000 4,755,000
= 3,150,000
= 405,000
Al 1,500,000

402 212+ X201 & 5,055,000 300,000 4,795,000
= 3,150,000
= 405,000
Al 1,500,000

02 QI X2 AL E (01X THA 5,085,000 300,000 4,755,000

OF=2d)| HA 25

5,055,000,000& *14] 5,085,000
= 3,150,000
= 405,000
Al 1,500,000

HIIsEX B2 4,573,600 4,434,400 139,200
= 1,772,000
= 705,400
Al 2,096,200

402 2I2F X201 & 4,573,600 4,434,400 139,200
= 1,772,000
< 705,400
Al 2,096,200

02 QI X2 AL EE(OIHTHE) 4,573,600 4,434,400 139,200
OMII=EX B8 4,573,600,000% 14! 4,573,600
= 1,772,000
< 705,400
Al 2,096,200

HIHA B 2,662,000 1,363,000 1,299,000
= 1,540,000




2A:

X XH -
o=

J |2 4EH 1
=Es 2
=

i
JIZUDI eF 2

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 462,000
Al 660,000
402 QIF X201 & 2,662,000 1,363,000 1,299,000
= 1,540,000
== 462,000
Al 660,000
02 QI TH2AILEE (01X THE) 2,662,000 1,363,000 1,299,000
O&MIIHA B 2,662,000,000& 14] 2,662,000
= 1,540,000
=S 462,000
Al 660,000
HJlst=xt 28 4,723,680 5,370,500 A646,820
= 3,179,000
=S 438,000
Al 1,106,680
402 2I2FXH=201& 4,723,680 5,370,500 A\646,820
= 3,179,000
= 438,000
Al 1,106,680
02 QI XHZ AL E R (01X THE) 4,723,680 5,370,500 A646,820
OXII=t=xt B2 4,723,680,000& * 14 4,723,680
= 3,179,000
= 438,000
Al 1,106,680
HIINSIH LI 2= AL 150,000 65,000 85,000
=S 45,000
Al 105,000
402 2I2FXH=201& 150,000 65,000 85,000
== 45,000
Al 105,000
02 QI TH2AILEE (01X THE) 150,000 65,000 85,000
OISt IS8 2H588)| 22
150,000,000 *14] 150,000
= 45,000
Al 105,000
II0IEX 25 188,600 227,680 /39,080
= 78,400
= 31,800
Al 78,400
402 2I2F X201 & 188,600 227,680 A39,080
= 78,400
[ 31,800
Al 78,400




2A:

X XH -
o=

J |2 4EH 1
=Es 2
=

Rl DI Fael EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 188,600 227,680 /39,080
OFII0IEX BSM
188,600,000 *14] 188,600
= 78,400
< 31,800
Al 78,400
SR BIEItA HZAHS 4,667,830 5,928,328 1,260,498
= 2,383,415
[ 194,432
Al 2,089,983
402 QIF X201 & 4,667,830 5,928,328 A1,260,498
= 2,383,415
== 194,432
Al 2,089,983
02 BIINEASEZ(0IETHR) 4,667,830 5,928,328 1,260,498
Obsa ZR/A ZIIHX X2
1,280,000,000& *14] 1,280,000
= 640,000
s 64,000
Al 576,000
O4ss ZRA DI X2
2,590,000,000& *14] 2,590,000
= 1,295,000
== 129,500
Al 1,165,500
OALIH(XKIAR, 2401) ZOIHXE K&
18,650,000 » 14 18,650
= 9,325
< 932
Al 8,393
OMANZEXI(0PF) 25 X
280,500,000 * 14 280,500
= 140,250
Al 140,250
OALIA A WH X2
495,000,000 *14] 495,000
= 297,000
Al 198,000
OE3IIB ity ds7X2d
3,680,000 *14] 3,680
= 1,840
Al 1,840
OIAIEX M2 CHE A 44,800 81,700 36,900
201 fet=3| 44,800 81,700 36,900
01 AtR2t2|HI 44,800 81,700 236,900




SA: JI= el

M D25 2M ASTAl FE(BE/UOI)
&l JIF0I| &F2el (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Oget=2H| 2,800
SOIMSA HE22IM 28 &2 Y
PSIES 800
-FuUE 200,000 *2I 2% 13| 400
-AHAE 80,000& x5 A *13] 400
SOIMSA HE22IM 22 HH E2=
NIESS 1,000 *2,000CH*13 2,000
Oodxt=z 42,000
o2 NHE AeXter Xt
42,000,000 * 14| 42,000
IHEE =AY 232AH 51,000 260,000 A209,000
= 30,600
Al 20,400
402 QI2H X201 ™ 51,000 260,000 209,000
= 30,600
Al 20,400
02 QIZEXH2AIZ 22 (01 TH &) 51,000 260,000 A209,000
OJNEE HsA 222l X
51,000,000 *14! 51,000
= 30,600
Al 20,400
MEAE FHAAHE ZEE B2 B2 8,000 4,000 4,000
T 2,400
Al 5,600
402 QI X201 ™ 8,000 4,000 4,000
& 2,400
Al 5,600
02 QIZEXHE2 A 2 Z (01 TH &) 8,000 4,000 4,000
OMEIR FoME BaZ 22 23
8,000,000& » 14! 8,000
T 2,400
Al 5,600
020l SRSl LPGRH M3t XA 25,000 0 25,000
= 12,500
Al 12,500
402 QI2H X201 ™ 25,000 0 25,000
= 12,500
Al 12,500
02 QIZEXH2 A 2 (01 TH &) 25,000 0 25,000
ONelol S&fxter PGt Mk K&
25,000,000 14| 25,000
= 12,500
Al 12,500
Koistd 22| (stE/XA) 489,175 547,928 ABB,753




SN IS MEND
3 ey 2el(&8d/Xe)
ol XgeEd 24 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 40,350
=S 33,418
Al 415,407
ety 28 489,175 547,928 A\58,753
= 40,350
= 33,418
Al 415,407
Agetd 25 12,940 16,667 N2, 727
201 er2 3| 11,110 13,627 A2,517
01 AtR2t2|HI 10,110 11,627 1,517
Oogegt+=EHI 10,110
CEAQAMEIEAL AIZTHH =2
505,500 *200H 2 10,110
2 s5=4g4l 1,000 2,000 21,000
OAlE &I Xl 1,000
oEZINIANE S Al2= =A 2
500,000 *20H A 1,000
202 04| 1,280 1,420 A140
01 =LHOLI 1,280 1,420 A140
O & NtHetd MoILE A
110,000& » 12 *x2 2 32] 660
OUEdlioia=8sH SR 32 &4
110,000 x2Z* 12 %13 220
OSHTA 22l & &8
50,0002 x2EH*x2 2 +23] 400
206 M=l 550 620 AT0
01 MHZHI 550 620 AT0
OELFEANE ARZ(Z 7Y S 53)
550,000 *14] 550
SRS Bt & =2 14,460 15,860 21,400
201 er=23| 12,480 13,640 AT1,160
01 At2teltl 12,480 13,640 1,160
Odgt+==H| 12,480
oFINERES LAAM M 7,200
-&JIE 0 *15,00021 %23 2,700
-=5=2 903 *25,00021 %22 4,500
oRBMNEFES AR & NSO0IH =
== 80&*3,00024 %123 2,880
oEIAMNEFES RSUSIHE =22
803 2,500 %123 2,400
202 04| 1,980 2,220 A240
01 SLHoIH 1,980 2,220 A240
OFNERe=s eS87R & WS
110,000 *3Z 12 +23] 660




SA 1= HEH
3 ey 2el(&8d/Xe)
ool TelEd 2E (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBBNEFLS MR SNEAN 2 T+
=d 20,0003 *32+32 #2353 360
Ot Rg= M A=l & =
=d 20,0002 x2EH 22 x 12 960
O = - 42 25 314,441 351,505 A37,064
= 10,100
= 33,418
Al 270,923
101 21A4H| 45,651 44,680 971
== 9,465
Al 36,186
M ORNZZ2NSE S 45,651 44,680 971
O0rdsAlE B39 DA 45,651
o012 78,8802 x4 H+60 2 23] 37,863
= 9,465
Al 28,398
oMEelT BAELL
6,800 *4H+60 L *23] 3,264
oMBIEER 4,524,000 * 14 4,524
201 et ] 61,840 66,664 N4,824
= 10,100
s 3,678
Al 48,062
01 At2t2l] 57,640 63,664 26,024
Oget=ZH] 56,960
oOtZIIHAIZE HS A 47,600
— QUK 98,0002 =4000t2| 39,200
= 8,300
== 2,500
Al 28,400
— ek 28,000&+3000}2! 8,400
= 1,800
< 530
Al 6,070
orgac|AAYE AIE X2
2,160,000 14| 2,160
= 648
Al 1,512
o B 3 ZRAS0 HXI M
300,000 x2E5+23] 1,200
oL i S OHHE M
2,000, 0002 *30CH*2.5/100 1,500
oI 2E ARE =5
15,0002 401 +6E 3,600




SN IS MEND
A TEd 2Ae(8E/H)
ol XgeEd 24 (SH9 H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
cOSAE 25 222 MA
3,0003*x15+300% 900
Oou=tl 680
oRA OMES +52% 282 680
- &Y= 100,000 4 400
- &5t 50,0002 x4 200
-oreE 20,0002 x4 80
2 S3=gHl 4,200 3,000 1,200
ORMNOtES=E HAM e ds0 2
cl B32= 350,000& * 122 4,200
202 04| 820 880 260
01 SLHoIH 820 880 260
ORY OMSE PIME 25
110,0002 x 18 »23] 3 660
OfRoll OtMs=S ==l Y Iloh HEEZA
20,0002 x2& =23 80
OFMOIESA = MKl AEHZAL
20,0003 <1 =2 «2Z 80
206 MH=H| 23,900 26,700 22,800
01 MHZH| 23,900 26,700 /2,800
O0tdsE L - 258 &7 7
50,0002 * 107K 500
OS2 XX ESEF 7
300,000 *32] 900
OOrdS=(HISI1, M) EXIAH 7
25,000 *900H 22,500
301 EtE NS 182,230 200,581 18,351
= 20,275
Al 161,955
11 #AIMHIXIE = 1,650 1,800 A180
OFolOtESE Lo /985 R 2t
3 E44dl N2 50,0002 *33 *13] 1,650
14 0Bt 2as 180,580 198,781 18,201
Oggdln 2= 200,000 *23] 400
ORY OHls=E 2X8S Ad| 243
55,0003 x2ZH *43|x 122 5,280
O=RlOrdS= Lo Xt =ZEAL 24
2H(SA) 40,0003 x30H 63| * 122 86,400
OFoHOtES= UoHE X ~BSA 28]
2a(EA) 200,000 x3H x2 & +23] 2,400
Ootds=0l st s&= S Ul 24
500,000 *769H A 38,000
= 9,500
Al 28,500
O0rdsAE Toi2a= (ATt - 482
x) 500,000&4 %102 5,000




SN IS MEND
A TEd 2Ae(8E/H)
&t eEd 2H (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFOtESE Lol 8288 X&H
370,000 %30 11,100
= 2,775
Al 8,325
ORNOFESS (UK, Detll) 22 ZH3
40,000& »8000+2| 32,000
< 8,000
Al 24,000
OrHS= IoHOII 2 AL 76,654 93,776 A7,122
101 @124H| 76,654 83,776 AT N2
M ORINZZ2NSE S 76,654 83,776 AT, 122
OSHOSAS TN 2AR 76,654
solse 78,8802 45244652 x23] 51,272
CMEQID BREAY
6,80021+524+652 x23] 4,420
colmmRAed
78,8802 x5 102 +25] *150% 11,832
oANSIZEZ (40 28)
9,129,810& %14 9,130
OriS= LIHHZAIE X3 60,500 60,500 0
= 30,250
Al 30,250
402 212 X201 & 60,500 60,500 0
= 30,250
Al 30,250
02 QI X2 AL EE(OIETHE) 60,500 60,500 0
OOt sS=LcHo A2 EX K&
1,100,000 *557H 2 60,500
= 30,250
Al 30,250
AHESHE Hd2 IS 4,500 4,500 0
307 @I2t01 & 4,500 4,500
04 QIZHHAMAIH 2 £ 4,500 4,500
OXNHESHE M JSHAMEE
4,500,000 * 14 4,500
AHESHA 29 5,680 6,120 N4
202 04l 880 1,020 A140
01 =LHA LI 880 1,020 A140
OXBS MACNE HAF &A
110,000 x2Z 22 %23 880
301 eEetE2 N = 1,200 1,500 A300
11 #AIAHIXIE S 1,200 1,500 A300
OXEsS AMOILE & WE &l X3
50,0002 x8H 3! 1,200
307 lztol & 3,600 3,600 0




SN IS MEND
M KHE 2 (BHE/Ad)
ol XgeEd 24 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02 QIRHE L&A B X 3,600 3,600 0
OXABSEI AIY EX
3,600,000 14 3,600
& 2L LY &e(sd/4oteS - =3) 1,555,873 1,586,875 A31,002
= 7,992
Al 1,547,881
& ad 2| 1,527,808 1,550,910 A23,102
& 7,992
Al 1,519,816
MEQR - Bl Y S4HS 2l 1,527,808 1,550,910 A23,102
& 7,992
Al 1,519,816
101 2124 d| 322,972 323,887 A915
M IIIMZ2Z2XSE+ 322,972 323,887 A915
O=Zst&Eal HAze|(ZGH, M, AL
) 322,972
ool 78,8303 *40H x85 268,192
oMEIZz BNaY
6,800 x40 852 23,120
cAlBIBEZ (401 2E)
31,660,000 14 31,660
201 B2 AY| 1,088,074 1,089,735 A21,661
01 ArR22ltl 1,058,074 52,735 1,005,339
Oget=2| 33,474
oGtE = SAEHA =2
2,460,000 43 9,840
oBE}ELY B =2
18, 160& *30H A *x20E 1,090
cINUSIAA CHHEXIE FH|
800,000 *30H 2~ 2,400
oS M RS 1,893,826 *1J0H &~ 1,84
oIS EIAA HIAYW AX]
10,000,000 & * 14! 10,000
oZTohEA oHME AX ¥ SEYotolct
s 222 MF 1,925
- AElAH 7, 7002 x50& 385
-oIag® 2,200 5004 110
—2EEMY AEIH ()
7,150 x200& 1,430
oIHRIGt=HMEIAlE SR S=EHZAL ==
= 15,7003 25021 * 12| 3,925
<o IQIGt=HMelAlE HACHE ¥ EFRSA
PNIES 02 *40,00021 %13l 2,400
O1l=hl 600
oxZte| HEQRRE 2= 600
-~ 100,000 2! *424 400




SA 1= HEN
B SE Q|9 B2(BA/ATAT - 2F)
ol =EEd 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
maurakel 50,0002 x4 200
OZels9] 1,024,000
o SESEA HIAY X2
25,0003 +80JH 2=+ 123 24,000
oZEsEA SXIZel(7904)
1,000,000,000& *14] 1,000,000
2 5234l 10,000 1,037,000 A1,027,000
OAlZ &8I Xl 10,000
oE3ATA U - AFAIE H B =d
10,000,000& * 14! 10,000
202 04| 4,080 4,545 465
01 =LHOLI 4,080 4,545 A465
OTRIBHAHRIAIL SR 2FZA o3
110,000 x1&x 162 1,760
Odta 4 =ZAA 2|2
110,000 x2& * 13|43 880
OEAMXIS Jholot=XeIAlE =23 A 22
50,0002 x2& +23|+x3E 600
OZAXS SSaHEa ALZ AE A
50,0003 x2&x12]~43 400
OBZSIRA oins| &4 U HAX A8
110,000 x2& »23] 440
206 M=H| 30,690 32,690 /2,000
01 M=4l 30,690 32,690 22,000
OftE4 +TANE 27 Moy 7Y
1,200 *30 & *42] 144
OJfelot=HelAlE g7 =8 7Y
1,200 455 * 18] 546
OZHNY SESEA YH8E S 2
30,000,000 x14] 30,000
301 EtE NS 98,992 100,053 1,061
== 7,992
Al 91,000
11 AALEEIXIE S 5,472 5,472 0
O=SaAd AEIY 29 ¢
19,0003 x4 +x6EH x122] 5,472
14 IIEt2 83 93,520 94,581 1,061
Ogstad Hoss Nd
70,0003 %27 2=+ 123 22,680
OJfgetaa 22238 A2
26,640,000 * 14| 26,640
[ 7,992
Al 18,648
OEAXS B &4 X(8H, stdH
ALAE ) 44,200
o= 222,000 %502 11,100




SA 1= HEN
M 3 9 PII12F 2el(BF/46tE - =F)
ol =EEd 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oEHIFH AR 700,000& * 182 12,600
oo HYMN 24
205, 0002 «2CH*502] 20,500
405 AtatE = 3,000 3,000
01 TR =S FISHI 3,000 3,000
Ostaa 2gEdl| 8X0| 7
1,000,000 «3CH 3,000
SE2Y tHEga 2l 28,065 36,965 AT7,900
Sy tiEda N 28,065 36,965 AT7,900
201 er23| 14,845 19,890 25,045
01 At2teltl 13,100 17,300 A4,200
Odgt==H| 9,250
oL ANHH LETHA =2
115,000& * 102 1,180
oA AAL &Hl = HII=SX2lH
270,000 *30& 8,100
o=l 850
SBANE Haow 222 850
- 100,000 2445 500
- QtM S} 50,0002 +5% 250
-ote &g 20,0003 +5& 100
ogxz 3,000
CEELQEALLL LN HEl LI HIS
500,0002 *x3CH*23] 3,000
2 Ss52g4l 1,745 2,590 A845
OAlZ &I Xl 1,745
ocaSEFI| & Zely =cl
5,800, 000& *5/100+2CH 580
cMS=FI| # Zely =l
9,000, 0002 5/100%1CH 450
o+I=FI| 22|
7,700, 0002 *5/100%1CH 385
oprIeg=a=d)| =
6,600, 0002 *5/100*1CH 330
202 04dl 4,180 4,760 /580
01 =LHNHI 4,180 4,760 A580
OH==HEAMSY 28T HA 2=
110,000& 1 73] 770
O N2H AB2A 22
110,000& * 1272 770
ORI |2 SIANE gsHS
110,000 x 12 +7 2 %23 1,540
OB A At 2191 & X
110,0003 1 +63] 660
OstBZ =20t HEERE 29 & AAE &4
110,000& »2& =22 440




SA 1= HEN
B SE Q|9 B2(BA/ATIAT - 2F)
Chel: SH2YE iS4 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 6,940 7,900 A960
01 MHZH| 6,940 7,900 2960
OtiEg4a 28T HAME AEIHH DI 3,500
oRaM+d 1,000 *200H 200
o Zgdit MY 15,0002 *100H 1,500
o ZMOHCIOHE 20,0002 +50H 1,000
o F L 200,000 »48¢ A 800
OZ28AL HHE MHE 3,240
oJ|E EFE 90,0003 +82r A 720
=J|E EXE 190, 0003 82+ A 1,520
o QQUHA 200,000 58 A 1,000
OA8=EI| ZEHEX
20,0002 +52 100
OXES=EI| ZeHEX
20,0003 +52 100
301 2= 2,100 3,415 A1,315
14 JIEt2d = 2,100 3,415 1,315
Odegdl La=
30,0003 x324* 122 1,080
OstZgal Z10 S adl 24=
85,0002 #3241 255
OstZgiEAgd 2 - & gsH=S 22t
ol AH|IZ 4t 85,0002 x3H *33] 765
HH2IBZHI(OIZHEN D) (DIEHIIEL) 141,365 172,712 A31,347
=] 16,982 12,211 4,771
el =gl 16,982 12,211 4,771
101 @124H| 16,982 12,211 4,771
03 SRA(RIH )22 U2+ 16,982 12,211 4,77
OAteI22+E
15, 7243 x3EH 20 A1 2H 12 +150% 16,982
Jl=2&d| 124,383 160,501 A36,118
JI23Hl 124,383 160,501 A36,118
201 =3 88,685 122,928 A34,243
01 At2t2lt] 26,234 40,477 AN14,243
Ogt=ZH| SUA 4
7,106,000 *14] 7,106
OSetl SHAY 19,128,000 x 14 19,128
02 S3=gHl 62,451 82,451 /20,000
Os&s= & MM SHAHY
62,451,000 * 14! 62,451
202 04| 24,838 26,773 A1,935
01 SLHoIH 3,718 5,653 A1,936
SM2E SN 3,718,000 14] 3,718
02 A0 21,120 21,120 0




2A:

J = 4EH 1

Mz HHSHAH|(J|SMEH) (DIEHDIEH
&l D122 (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OJI=0P|&e SHE2SA
160,000& 2 x 128 3,840
OXtAstHZz2e| =R
160,000& 2 x 128 3,840
ORIt XeIAIE SRR
160,000& 3= x 128 5,760
OstENE &3
160,000 4« 128 7,680
203 YR =&IH| 10,860 10,800 60
01 J|2A2HH 2= 6,000 6,000 0
Ot =X HEAF =&IH|
6,000,000 6,000
M4 ENSILRFEYI 4,860 4,800 60
OIS MEfDHB1H)
(400,0002+(5,000& 1) )~ 12& 4,860




